ot Surname Initiaf(s)
No. Paper Reference LE’ rr? C/}'\i 0 i&-_,‘

, Sigpature ,
(ot 31810(/(2|F|™r M semar

Paper Reference(s)

1380/2F Evamtoer's e aly

Edexcel GCSE L
Mathematies (Linear) — 1380 L P
Paper 2 (Calculator)

Foundation Tier ;&
Friday 12 November 2010 — Morning
Time: 1 hour 30 minutes

Materials required for cxamination Items incladed with question papers
Ruler graduated in centimetres and Nl

millimetres, profractor, COMpPasses,

pen, HB pencil, eraser, calculator.

Tracing paper may be used,

Instructions to Candidates

In the boxes above, write your centre number, candidate number, your surname, initials and signature.
Check that you have the correct question paper.

Answer ALL the questions. Write your answers in the spaces provided in this question paper.

You must NOT write on the formulae page.

Anything you write on the formulae page will gain NO credit.

If you need more space to compiete your answer to any question, use additional answer sheets.

Information for Candidates

The marks for individual questions and the parts of questions are shown in round brackets: e.g. (2).
There are 27 questions in this question paper. The total mark for this paper is 100,

There are 24 pages in this question paper. Any blank pages are indicatec,

Calculators may be used.

If your calcalator does not have a = button, take the value of x to be 3.142 unless the question instructs
otherwise.

Advice to Candidates

Show all stages in any calculations.

Work steadily through the paper. Do not spend too long on one question.
If you cannot answer a question, leave it and attempt the next one.
Retumn at the end to those you have left out.

This fon may be e cly i with
Edercel Limited copysight policy.

€201 Edssee] Limited, Turn over
TGO || ] e
WES0/RI380F/57570 6/6/6/ N 3 7 8 3 2 A 0 1 2 4

advancing learning, changing lives




GCSE Mathematics (Linear) 1380
Formuiae: Foundation Tier

You must not write on this formulae page.
Anything you write on this formulae page will gain NO credit.

f—a—
Area of trapezium = Z(a+ bk
fe——
Volume of prism = area of cross section x length
Xeﬂ%m
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Answer ALL TWENTY SEVEN questions.
‘Write your answers in the spaces provided.

You must write down all stages in your working,

10 40 50 T 60 70

28

Write down the number marked by the arrow.

M
®) e S e = T e
10 T 20 30 40
Write down the number marked by the arrow. £+
E
................................. (1)
© A e e Y
99 100 T 101 102
Write down the nomber marked by the arrow.
1605
6]

)] .
~7 -6 -5 -4 -3

Find the number —5.2 on the number kine.
Mark it with an arrow ( f )-

n Q1
(Total 4 marks) ’_1

3

J
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U 0 O Turn over
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2, Jason asked some students what their favourite colour was.

The pictogram shows information about the number of students whose favourite colour

was red or blue.

- (46

~ 464 4A

XX

Yellow @ k’

Key: % represents 4 students

(a} Write down the number of students who said red,

4+4

{b) Write down the number of students who said blue,

d+4+4+4+2

12 students said their favourite colour was pusple.
5 students said their favourite colowr was vellow.

(c) Use this information to complete the pictogram.

2

(Total 4 marks)

Leave

blank
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3. Melissa buys

1 calculator at £4,38
1 ruler at 45p
2 pencils at 29p each

She pays with a £10 note,
Work out how much change Melissa should get.
3 pen ils at 29p feach wst
.38
+ 045
Y058
- 5 il

Chawei = lﬁ" Se

Leave

blank

29xL = f‘;gfzaéwce,

(Total 3 marks) ,—}

A

(a) Measure the Iength of the line AB.
Give the units with your answer.

................................. 5 \
(b) Measure the size of the angle marked x. N )
I 5 S
a$
(Total 3 marks)
5
A O O R Turn over
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Leave
blank

5. Here are some rectangies on a grid of centimetre squares,

r}

(a} Find the area of rectangle G.

285 0

....em?
M
(b) Find the perimeter of rectangle B,
ezt b
1
Two of the rectangles are congment. ( Savae 31 e 3 Sy 5 l!ﬁfi_,i’%}
(¢} Write down the Ietters of these two rectangles.
e
iac -
..................... and ...
1)

Rectangle F 15 an enlargement of rectangle B.

{dy Write down the scale factor of the enlargement.

T 5 - )
NNy : all T,
Iwite +h T i los

di’{"imbxﬁ. . B

(Total 4 marks)
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6. There are 11 children in a room,

6 of the children are girls.
{a) What fraction of the children are girls? é
i m

2 of the boys are sitting down.

(b) What fraction of the boys are sitting down?

boys - 116 = Sbeys- 5.

@

{Total 2 marks)

Leave
blank

7. (a) Simplify  ktktktEtE

(b) Simplify 2m+3m—m
L
D
{c} Sofve 6x =30
é > S AD
& & .o
(1)
(d) Solve 17—y=14
3
P e
(03]

(Total 4 marks)

0 O OO
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Turn over
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Leave
black

(ay (1) Write down the coordinates of the point 4.

( i ............ Q‘")
(ii) Write down the coordinates of the peint B.
@
(b) On the grid, plot the point (5, ~1).
ILabel this point C.
M Q8
{Total 3 marks) ]
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Leave
blank
9. Here are some patterns made from squares.
Pattern 1 Pattern 2 Pattern 3 Pattern 4
(2) On the grid below, draw Pattern 5
n
¢ (b) Complete the table for Pattern 5 and Pattern 6
Pattern i 2 3 4 5 6
Number of squares 4 6 8§ 110 r)- “-i-
)
Amit says
625 is a number in the sequence 4, 6, §, 10, ...~
(¢} Amit is wrong.
Explamn why.
625 15 nét o muth ]res'k ﬁ 2.
o 6,&5 to. AT LA, .
(1) Q9
{Total 4 marks) —]

g
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10. The graph shows information about the age and height of a tree.

51

Height |1 —H e
(metres) ) i

2 4 4 8 1¢ 12
Age (years)

(a) Use the graph to find the height of the tree when it was exactly 4 years old.

(b) Use the graph to find the age of the iree when it had a height of 3.6 m.

......... !@e‘-“- years

()]
{Total 2 marks)

Leave
blank
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Leave
blank
11. Here are the weights, in kg, of 7 people.
57 @ 49 49 72 45 75
{a) Work out the range of these weights. H { 3% esb — Lowast -
§7-45= 42- |
2
@&
(b) Work out the mean weight.
5T+8T+41+47+72+45+739
Meean = = '
Mean = 62.Kqg -
é @ Qn
B
(Total 4 marks) i
12. (a) On the probability scale befow, mark with a cross () the probability that in an
al] girls school the youngest student will be a girl,
; f |
0 H (\ i
5 -
(1)
(b) On the probability scale below, mark with a cross () the probability that the
pext baby born in London will be a boy.
f Sima !
0 1 1
2
1)
{¢) On the probability scale below, mark with a cross (x) the probability that when
a fair dice is rolled it will land on a number less than 3. Lesr 2
f * i !
0 1
L3
% @ Qu
(Total 3 marks) _]
-

11
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13. Here is a six-sided polygon drawn on a gnd.

(a) Write down the mathematical name of a six-sided polygon.

H exB o

(b) On the polygon, mark with arrows (>=) a pair of parallel limes,

(c) What type of angle is the angle marked x?

@b%vﬁ”&

@

)

(Total 3 marks)

Leave A
blank
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Leave b
blank

14. Two shops, Food Mart and Jim'’s Store, both sell Kreemy Yoghurts.

Food Mait Jim’s Store

Kreemy Yoghurts Kreemy Yoghurts

WAwAw oy
Wi U

5 for £1.80 3 for £1.05

At which shop are Kreemy Yoghurts the better value for money?
You must show all your working,

food Mart -

{\iaj‘f\t&rt . 1.80 252 Fo-3¢ lgér‘

O s S-}'csrc:,
| Noghurt = 1-09

) SR C
Relter Yolue = s Shore (35p)

Tim's Stere

{Total 3 marks)

S =3 =£0.35 =9p.

014

13
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@f{m

{Total 3 marks)

Leave
blank
15. Here are all the factors of 16
1 @ 4 8 16
(a) Wrile down the factor of 16 that is a prime number.
)
(by Wnite down all the factors of 14
PREIRL
T ST P - S
@ 01

vehenk
{—’fﬁa&ﬁm

16. (1) Write these numbers in order of size.
Start with the smallest number.

03 0.068

4y

0.306 0.63

(b} Write these fractions in order of size.
Start with the smallest fraction.

51 s 3 4 Iy # 18 ~ 20
4 12 6 8 ey — B —
18 4 Lo 2y fr 4 < 24 < 2.4
P 24 A4 A4 fess than
3 . F+.3_5
{Total 3 marks) _f

0 O O O




17. A family of 2 adults and 3 children went on holiday to Miami.
They travelled from London by plane.

Adult plane tickets cost £459 each.
Child ptane tickets cost £289 each.

(2) Work out the total cost of the plane tickets for the 2 adults and 3 children.
9 adulls = 4Sqx2
3 chiddren = 28T X5

Tstal = 4SAx2 + 234x5

The family visited a theme park.
They paid a total of 322 dollars to go in.

The exchange rate was £1 = 1.84 dollars.

(b} Change 322 dollars to pounds (£).

ig o V34 #
VI I PR
329 = \.84= U5

The distance from London to Miami is 7120 km.

The plane joumey took 8 hours,
D
{¢) Calculate the average speed of the plane. //’Q}\
D T20  (Dedshne T

5“::'7-_[;-;“"' 3

- %90 BA0 e

-
Leave
blank

<)

@ &
(Total 6 marks)
15
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Leave
blank

18. This rule is used to work out the number of points a team gets.

Number of _ Number of n Number of
points games won X 3 games drawn

Rovers have won 8 games and drawn 2 games.
Mg Py
(a) How many points have Rovers got?

M“‘Mwéigifsﬁnk = iiﬁ ;— 2
944

Grangers have got 42 points,
They have drawn 6 games.

(b} How many games have Grangers won?
49 peinks = Nuwmber ef games X D+ !\!um&wi’j?jﬁ‘?’m
F Won drayn| =@ )

Nuwber of games - 42 — 6
Wown 3

............. / 2;,..94_3?’%

@ |18

(Total 4 marks)

16
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™
Leave
blank

19,
Iragram NOT

accurately drawn

2+ 125 +80+6F = BEQ

(a) (i) Work out the size of the angle marked x.
4 = 360~ (i25+80 +61)
= 9% 38
(i) Give a reason for your answer.

Mﬁimmfmﬁmmm\akml&dé
LH?FD%@“

3
@ Diagram NOT
accurately drawn

¥ 144°

(b) (i) Work out the size of the angle marked y.
vt £9 = 144

Y = 14y ~-£9 V
=15 MR =]

(ii) Give a reason for your answer.

Ex i’@fiﬁs.ﬁ.mmﬂim_.. ,ﬁ,hmmmm%w

{

o H/\e..,zmmL..,__g:f;____{fix_\_gz_...Lm_tsz.r.ﬂa@.if.,..a:f;.[m.gu@...._3..
angles - X

Q19

(Total 6 marks)
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20. 100 people played sport on Sunday.
Each person played only one sport.

The two-way table shows some information about which sport they played.

-
Leave
blank

Foothall Tennis Rugby Netball Total
Men A | 2 10 8 54
Women 20 9 é;? é ‘ i{‘ @
Total T 2.1 16 { 4 100

(a) Complete the two-way table.
6)

(b} How many women played football?

1]
A O

(6Y]

(c) How many people did not play rugby?

ipp ~ (6 = B84 )
................................. (1) (Qg\()
{Total 5 marks) ]
21. Use your calculator to work out
13.7 +5.86
254 %317
Write down all the figures on your calculator display.
You must give vour answer as a decimal. )
(13.1+5.80) £(2-54 X3F) =
2.429270414
................................................................ Q21

(Total 2 marks)

18

0 0 O




Leave

blank
22,
4 Diagram NOT
9 em accurately drawn
5cm
B c

P yth aqoins Fhaorem~
ABC is a right-angled triangle. s 2 wo
AR =35¢cm, — ; b (
AC=9cm. b‘“ (= M% E:

P .

Work out the length of BC. &ﬁ_q‘ o A*C - m

Give your answer to 2 decimal places.

BC :\j C?L — 5% !

Be - \/81-25
fbcﬁﬁz

% C =1 483 7““'9 om 022

(Total 3 marks)

23, Noah got 8 out of 20 n a fest.

Write 8 out of 20 as a percentage.

9 < loo = &x5

20

......... 4’ L Q23

(Total 2 marks)

v

19
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blark

24. There are 20 beads in box A.

20 beads

box A

In box B there are twice as many beads as in box A,
Ay r———

Yox 2 = 4o e

box B

In box C there are i— of the number of beads as in box A.

3 . 20 = 3%5 =15 3 oA

éﬂg qu C

In box I» there are 10% more beads than in box A.

[P i , . .
‘Gig @_ﬁ 20 = 2 10% more
K 4 " oy than A
4 Ao = L2
: box D

Work out the total number of beads in the four boxes.

Tl = 4o+1i5+22+ 20
| ¢lal R C D A

......... CE '}d beads 1924
7

(Total 4 marks)

20

O R




25,

0 x

(a) Reflect the shaded shape in the line y = x.

2)
Vi
/ _
/ -
f; . " g
/AT a4 /
O WAYAV: b
B LAYy yava
/ A Y A1
|
/ s
/éj?f} LT
s = p—
; 1 et
: ] N
x
(b} On the grid, enlarge the shaded shape by a scale factor of 3, centre O.
3

(Total 5 marks)

025

|

N 3 7 8 3 2 A C 21 2 4
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26. 200 students i Year 11 took a mathematics test.
Kamini wants to find out whether students in Year 11 like mathematics.

For her sample she asks the 20 students who got the highest marks in the test.
This is not a good sample to use.

(a) Write down une reason why,
The & f””mp e innilire W;smhwa aj thic..
o0 Shud ks, Lo Small ). _.

She uses this question on her questionnaire.

e

What do you think of mathematics?

L] ] L]

Fxcellent Very good Good

(by Write down one thing that is wrong with this question.

N »&Ff{u{ff@c wwaﬁi ...........................................

Kamini also wants to find out how many hours students spend on their
mathematics homework,

(¢} Design a suitable question that Kamini could use on her questionnaire,
You must include some response boxes.

e Mzrwvj haids dﬂdf W’V’d o
jjgm b ‘()ffr week |

D hrs 1~ 2l Zormele s .

)
(Total 4 marks)

~
Leave

blank

Q26
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27. (a) Solve 2x+3 = 10

Va3~ A jo~-3

Leave

blark

2w = F-
x = T
2
3.5
X e -
(b) Simplify
Q) exc Cﬁ% = (_‘“ C”
(ii) e et @m‘ -4 :ﬁg 2
.
@
(¢) Simplify fully Tx — 2x — 3y) ~ Ay
Tx —2% +2x3g —Hy
T —2x +5? - 5&3;
5% + -‘2_}
Sy 42
sy
(Total 7 marks) |
TOTAL FOR PAPER: 1 MARKS
END
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